Tables E3 Mark Scheme
1(a) Neil and Kristen [1]
1(b) History [1]
1(c) Kristen [1]
2(a) Chicken burger and fries [1]
2(b) £3.95 + £5.50 [1]

= £9.45 [1]
2(c) £5.99 — £4.29 [1]

£1.70 (1]
2(d) Small wrap and salad [1]
3(a) 15°C [1]
3(b) Monday at midday [1]
3(c) 8-5 (1]

=3°C [1]
4(a) 9 [1]
4(b) 14+15+4+13+6 [1]

=52 (1]
4(c) 1549 = 24 [1]
A(d) For working out t_he amoupt of students who want to [1]

go to at least 2 different trips

Theme Park = 33

Bowling + Cinema = 24

Museum = 10 [1]

Zoo =31

Planetarium = 15

Theme Park (33) [1]
5(a) 4 [1]
5(b) 2 X £2.90 [1]

£5.80 (1]
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5(c)

4+2+3+1+4

(1]

14 [1]
6(a) 7 (1]
6(b) 18 + 26 (1]
=44 [1]
6(c) 26 + 4 [1]
=30 [1]
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